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Tri24% 68 1H HEHE = % s
JHAAH X 1,104 1,245 1,409 2,654
AR 555 624 730 1,354
ZH 133 142 160 302
INEY 75 74 86 160
;R 77 71 76 147
=F 33 48 42 90
pliss 164 225 237 462
& 27 26 37 63
a3 40 35 41 76
HAEHMX 1,018 1,135 1,248 2,383
2 69 78 86 164
BR 153 178 189 367
fak 284 309 349 658
FHEE 82 108 111 219
=3 105 128 130 258
)l 78 81 96 177
I 122 127 140 267
X Ep 125 126 147 273
X 587 718 800 1,518
FEMN 207 245 280 525
T2 163 200 224 424
HE 78 86 108 194
th 3 22 36 33 69
AKX 117 151 155 306
=X 1,495 2,006 2,123 4,129
FH B 225 293 301 594
N 23 24 27 51
BLe 120 160 148 308
) 64 82 80 162
INE 285 389 439 828
+ 180 237 251 488
X 21 24 32 56
I 29 58 54 112
(ZHS 39 54 59 113
wIi 38 58 60 118
g8 30 33 35 68
= 173 235 274 509
AREFN 77 91 103 194
RXAKEr 90 114 121 235
XK 45 70 64 134
B R 56 84 75 159
e = RATS R 4,204 5,104 5,580 10,684
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FR24%F 6A 18 | SHLE 65 L 75 E O~148%
AR X 4461 1,184 821 203
HEHX 48.38 1,153 839 170
EMHhX 45.45 690 479 115
=X 36.90 1,524 1,024 448
HAaERET&E 42.59 4,551 3,163 936




